ﬂé Co3ziaHue JecATKOB (BBIYUTAHUE) Nwms:

Co3naiite 1ecATOK, YTOOBI peIIUTH PHMEPBHI. OTBeThI
oop) 13- 7=13- 3 - 4
10 . 4 = obp. -~ T+
D12-6=12- - b
0 - = —
2.
) 11-3=11-_ - —
0 - = S
J12-3=12- - ‘o
0 - = —
s,
H14-7=14- - —
0 - =
- 6. _
5 14-6=14- -
7.
10 - = -
6 15-7=15- -
0 - =
D12-8=12- -
0 - =
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K4y k npaBujibHbIM
Co3anne JeCITKOB (BRIYUTAHNIE) Mms: oTBeTaM

Co3snaiite n1ecaTOK, YTOObI PelIUTH NPUMEPHI. OTBeThI
o6p) 13- 7=13- 3 - 4
10 .4 = obp. -~ T+
2 4
1) - = - - b=~
12-6=12- 2 - 4 4 6
10 - 4=6
2 1 2
2 8
2 11-3=11-1 -2
10 -2=8 s 2 1
19
d12-3=12-2 - 1 . 4 3
0 - 1=09 3 7
s 4 2
9 14-7=14- 4 - 3 2 8
0 -3=7 o 5 2
2 8
5) - = -4 - 2
14-6=14- 4 - 2 .2 6
10 -2=38 _6 4
6 15-7=15- 5 - 2
10 -2=8
D12-8=12-2 - 6
10 - 6= 4
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